[AB.9.SS.5]

A store manager placed a discount coupen into only one of three
differently coloured boxes. A customer was selected at random and was
asked to choose one of the boxes. The customer chose the blue box

because blue is her favourite colour. On what was the customer’s decision
based?

O Theoretical probability

O Mathematical calculation

Subjective judgme

O Experimental probability
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How many lines of symmetry does the diagram shown above have? Which triangle is similar to triangle A?
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In the diagram below, c represents the approximate distance

across a circular cloud.
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What is the approximate area of the cloud to the nearest square
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& 6 square kilometres
O 29 square kilometres
O 48 square kilometres

O 117 square kilometres

[AB.9.N.2]

If (x°) + x® = 196, what is the value of x?
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The left and right sides of an equation are represented below.
A legend for the equation is also given.

Legend
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How can the solution to the e uation be represented?
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[AB.9.N.5]

The square roots of two rational numbers are shown on the number line.
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If point B is located on the number line between points 4 and C,
which of the following could not represent B?
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A keyboard has 60 keys, of which L are grey, 4 are black,

and 7 are green. The rest of the keys are white. How many
white keys does the keyboard have?
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The diagram shows a swimming pool. The dots within the diagram
represent floating buoys. The pool has a diameter of 20 metres.
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What is the shortest distance from the buoys to the edge of the pool?
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Emily, Chelsea, and Alana donated some money to a charity. Emily
donated three times as much as Alana. Chelsea donated $15 less than
Alana. If the total amount they donated to charity is $75, how much money

did Alana donate?
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[AB.9.55.2]
A 3-D object is made of cubes dipped in paint. Each cube

is2cmx2cmx 2cm.
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If the painted object is separated into its individual cubes, what will be the
total area of the unpainted surfaces?

O 36 sqcm @® 96 sqcm a(p WL

O 40 sqcm O 144 sq cm
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Which pair of expressions are equivalent for all values of z?
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X <2

Which two d|agrams shown above both represent thé/
inequality x < 2?

[AB.9.N.1]
Which of the following sets of powers is arranged in order of increasing value

from left to right?
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The following diagram has not been drawn to scale. The letter
O represents the centre of the circle.

If the line shown is tangent to the circle, what is the measj/of angle
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O 60 degrees

O 40 degrees O 20 degrees
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X
[AB.9.55.1] [AB.9.N.4]

Justin is going to buy a used car for $850 (including GST). He can choose
between two payment plans.

Plan A Pay $150 now and $25 each month
Plan B Pay $400 now and $45 each month

How many fewer payments could Justin make if he chooses Plan B?
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implification of Expression B is incorre

he simplification of Expression A is incorrect, and the
simplification of Expression B is correct.

}(The simplifications of both expressions are incorrect.

;& The simplifications of both expressions are correct.
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Two different expressions are simplified below. How many whole numbers could represent the value of z in the
& & following inequality statement?
Expression A Expressiony
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[AB.9.N.4]

Four students each simplified the following expression. The answers they

found below.
ound are shown below 350'4&‘

2+4x5-722(3+4)?%x3

Which student simplified the expression correctly?

2€1x 9 -G x3)
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Student 1: 69
Student 2: 41
Student 3: 8
Student4: 1

O Student 1

O Student 2

O Student 3
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The quotient of (-16x2 + 32x) + ®x is -4x + 8.
What is the value of )?
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Three rational numbers are shown below.

A: -0.067
B —§ 2 - L{j z "‘(-33
C: —14—7 g ,_,,"’I, .‘_‘f‘ 3.5
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Which inequality represents these rational numbers?

O A<B<C

O C<B<A

OyB < A<C

[AB.9.N.3]

Jeff’s cellphone plan charges him $0.07 per text message, $0.09 per
minute of voice usage, and a $4.00 base fee each month. What is Jeff’s
cellphone bill if he sends 44 text messages and talks for 53 minutes in one

e 0¥ + 0.A¥ +y .00
oser  0-0HUU) + ©.07(S3) 1y
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o $17.68 s

o $19.52

[AB.9.PR.2]
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Which equation represents the linear relationship sho
above?
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O y=2x+6

Oy{=7<6
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A model of division is shown above on the right. Which of the following
polynomials represents the unknown expression?
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